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M.A. (Final) Economics Examination, July/August 2011
(Directorate of Distance Education)
Paper — VI : INTERNATIONAL ECONOMICS

Time : 3 Hours Max. Marks : 70/80

Instructions : 1) Students who have attended 30 Marks IA Scheme will
have to answer for total of 70 Marks.
30 czo57%7 50305 w’g’éaﬂcﬁ 2ITCT OeDCE3TE <C% Q10 70 o578
gg’ﬁ@ﬁ SVFORIE.
2) Students who have attended 20 Marks IA Scheme will
have to answer for total of 80 Marks.
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3) Answer any FIVE of the following questions. Each
question carries 14 marks for (both 70/80 Marks
Schemes) and Q. No. (11) in Section — B is compulsory
for 80 Marks Scheme.

SECTION - A
QLN -

Note : Answer any FIVE of the following. All questions carry equal marks.
Rpe3S : FENT 0E0 JITIT VGO0, DR, FITTV0 AR S05/TS0,

1. Evaluate the contribution of Ricardo to the theory of Inter-national trade. (14x5=70)
@oédm%@@b TV AT oé@& OTWRCF TRT é@daﬁojodg{ T0dAD.

2. Explain the distinguishing features of International trade.
0ZTTV, L0 TFTITT DHT OFEANTS), OO,

3. Discuss the factor endowment theory of International trade.
0ZTTV, 0% TV YVBITIDON ROTIF AT 0TI L33 R0.

4. Discuss the impact of tariff on the terms of trade of a country.
2,000 B3T3 539, TTT FTIO 30 BIOFT TOTEDTOBR), OO e3LF 0.

5. Explain the purchasing power parity theory of determination of exchange rate.
QREOOTT AT TEOD BRI YO BROZOD AT 0THR) SISO
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6.

10.

11.

Explain the components of balance of payments. Point out the measures for
correction of disequilibrium the balance of payments.

TR orndR) HFOO. THHWYT BSRBERCOTII FOBRAT FRoNER) 3920,

Discuss the role of FDI the economic development.
SRFT @@Q)Qoda@q QT3S FeT WOBTPT mgd@t 3003 833 R0.

What is customs union ? Explain the dynamic benefits of customs union.
708 23988 03T ? RN 10Feo FodperInday HF[ORD.

What are the features and conditionalities of W.T.O.
2B 73,70 ROFPLFOD @%9@ 0B WOBYNED 0T 2BC0.

Discuss the role of IMF in solving the problem of International liquidity.
@oédm%eodo RB00 :o)daﬁéojad% RNBOROTE). @oéd@%eoja BEFTIROIGOD m@dﬁg{
F0030 133 0.

SECTION - B
QN - V)

Note : Compulsory question for 80 marks scheme only.
mpess : 80 esos71e 500 G0

Bring out Adam Smith’s theory of absolute cost advantage. 10
SO 3T 50 ATTET TR RBR O ATDOTTI, W00,
OR/e5%0

Explain the theory of reciprocal demand using offer curves.
TOFT WeRFO ATTOTTRY, DB TIDTeINTR) L2 QTORO.



